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Lampiran 1. Data Kuisioner Pelabuhan Indonesia
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Lampiran 2. Output Running Matlab

1. Generation 200 lterasi 1

a. Result Code

Reduct

[ I e Y I Y R W W N o B WY B i L IRV R Wy S Sy N

minimize r =

of C_attributes C_reduct =
targeted of C_attributes targetValue
the result C_reduct =

2

PR R R R R R R W LA R LR R R R R R RN BN
N R N O T T TR Y, R - FT RN TR, BV, By RN R, R N A S N ]

[ T R N R B N Ty N T R T S N N Y Y]
[ T R L LT S T~ W B R e e A N N N

[ Iy R N S WY I WY I, [y Y o N R A T I FE R WU Sy Wy B S W}

result of computing ====
[ @ @6 8 @ @ @ 1 1 @ @ @ @ 8 @ 1 @ @
[ € 8c9 cle c37 c4l c48 c56 ]
= -b6.5385

[ S N AN I S PR S PR SR W RV R T T RV B R YRV IV R

b. Generation Algoritma

Fitness value
o A G

&

Expectation
=]

Stall (T)
Stall (G)
Time
Generation

Best: -6.53846 Mean: -6.53839

. Best fitness
. Mean fithess

100

Generation
Fitness Scaling

150

e o+

-6.5385 -6.538 -6.5375 -6.537 -6.5365

Raw scores
Stopping Criteria

X 38
Y1

E—

0 20 40 60 80
% of criteria met

2. Generation 200 lterasi 2

a. Result Code

100

Average Distance

3Average Distance Between Individuals

o
1 'o. r\
T,

] [N

50 100 150 200

Generation
Best, Worst, and Mean Scores

2T
-4
b o

50 100 150 200

Generation
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====================== result of computing = === === ==
minimize r=[® © 1 @ @ 8 @ 1 © & 1 © @ & @ @ B8 1 d
Reduct of C_attributes C reduct = [ ¢ 3 ¢ 8 c¢l1l 18 <34 c56 c58 ]
targeted of (C_attributes targetValue = -6.5141

the result C_reduct =

W R W R R R W WA R W R R R W R R e R
R W P L P L R WA L W L R W R R R R W L R e R
PR EoEEWBO R WU RNV R RN BN
[ S e Y L e Y R LT A SC I W S R N N R R N
B RO R W RNOW R W W R R R W R R L
[ S R I S SR TR PR T I B R W R B AT, RV
W Rg LRI S s RO LU R R W R LA LA R LT R R W R s W

b. Genetic Algoritma

Best: -6.51406 Mean: -6.51405 é\verage Distance Between Individuals
©
3 -4 «  Mean fitness Fok
> a H
(%)
0 -5 (7]
o o |
£ n g
i gl 2 s
. I LA
0 50 100 150 200 50 100 150 200
Generation Generation
15 Fitness Scaling Best, Worst, and Mean Scores
-2
c .
=10,
B . -4
@ "
5 ° l..
]
0 i tmem s 2sa » ma ws -6
-6.51406 -6.51404 -6.51402 -6.514 -6.51398 50 100 150 200
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Stall (T)
Stall (G) .
Time ve
Generation
0 20 40 60 80 100
% of criteria met

3. Generation 200 lterasi 3
a. Result Code
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minimize r =

result of computing
[ 8 B 1 1 @8 B 8 6 B @ B 1 8 B B 6 8
Reduct of C _attributes C reduct = [ ¢ 4 ¢ 5 ¢13 c24 c44 c49 ¢55 ]

targeted of C_attributes targetValue = -6.5635
the result C_reduct =

2 2 2 2 2 1 2
5 4 4 1 1 1 1
1 1 5 1 1 5 5
2 4 4 3 2 2 2
3 3 3 2 3 4 2
2 2 4 2 3 5 2
2 1 5 3 3 5 2
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1 2 5 1 1 1 5
2 2 5 1 1 4 4
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3 3 3 3 3 3 3
2 2 4 1 3 3 3
5 5 5 5 5 4 4
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3 3 3 3 3 3 2
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3 3 4 3 1 5 2
4 2 1 1 4 2 1
b. Generation Algoritma
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@5 @
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T el ]
3 Z o
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4. Generation 200 lterasi 4

a. Result Code
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minimize r = [ ® @ 8 B8 @ 1 & @ 2 B 0 @ 1 @ @ B B © B
Reduct of C_attributes C_reduct = [ ¢ 6 c¢13 ¢28 ¢35 c44 cd6 c52 ]
targeted of C_attributes targetValue = -6.5557
the result (_reduct =
2 2 2 3 2 2 1
4 4 1 2 1 1 2
2 5 1 2 1 1 5
2 4 3 4 2 4 3
3 3 3 3 3 2 4
2 4 2 2 3 2 5
2 5 3 3 3 2 5
1 5 1 1 1 1 5
2 2 2 2 2 2 2
2 5 1 1 1 1 3
2 5 2 1 1 1 5
2 2 3 3 3 3 2
3 3 3 3 3 3 3
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3 4 2 1 1 1 5
1 1 3 3 4 3 4
b. Generation Algoritma
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@5 :f,’l A
c M . s S e
Eol 2 | W A
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- s s “ . 6 .
0 .
-6.6 -8.4 -6.2 -6 50 100 150 200
Raw scores Generation
Stopping Criteria
Stall (T)
stall (G) e
Time X6 X]:(O(i
Generation .
0 20 40 60 80 100
% of criteria met

5. Generation 200 Iterasi 5
a. Result Code
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result of computing
[® @ @ @ @ 1 @ @ @ @ @ © 1 ©@ @ @ © O
[ ¢ & cl13 c28 ¢35 c44 cdb 52 ]
-6.5557

minimize r
Reduct of C_attributes C_reduct
targeted of C_attributes targetValue

the result C_reduct

Pl ol R R LA L L R RS R RS R RS W R RS s R
Rl B s P g WA WA P b R ORA WA R LA A s P e R
[ I S o o Y e R U W R L . B SRV I TR SRy oy
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Pt of o P s R R U U R U W R LA LA LA e L R

b. Generation Algoritma
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6. Generation 200 Iterasi 6

a. Result Code

b.
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minimize r

[l P R RV, B R WY I T SN R R N R N

2

[T S U LSRN ) B S e R R L S R e
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1 1 1 1
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5 5 4 4
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3 3 3 4
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1 1 1 5
1 3 3 3

result of computing
[ ¢ 8 B B 6 @ B B B @ 8 B 6 B B @ 1 O
Reduct of C_attributes C_reduct = [ c18 c24 <36 c37 cd6 c48 c54 c56 ]
targeted of C_attributes targetValue =
the result C_reduct =

-6.4796
2 2
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7. Generation 200 Iterasi 7

a.

b.
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Result Code
====================== presult of computing ===ss==s================
minimize » = [ 8 @ 8 8 1 © & 6 8 @ 8 & 8 8 6 @ 0 0 O
Reduct of (_attributes C_reduct = [ ¢ 5 ¢c29 c48 c48 c58 <56 ]
targeted of C_attributes targetValue = -6.5594
the result C_reduct =
2 2 2 3 3 2
4 5 5 1 5 5
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Generation Algoritma
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g 4 Mean fitness g 2k
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8. Generation 200 Iterasi 8
a. Result Code

====================== result of computing ======s=s=================
minimize r = [ ® 8 8 @ 1 2 8 @ @ © @ @ @ B © © © @ O
Reduct of C_attributes C reduct = [ ¢ 5 ¢29 c48 c48 58 56 ]
targeted of C_attributes targetValue = -6.5594
the result C_reduct =
2 2 2 3 3 2
4 5 5 1 5 5
1 5 5 5 5 5
4 3 4 2 4 3
3 3 4 4 5 2
2 5 4 3 5 5
1 4 2 3 5 5
1 5 1 5 5 5
2 2 2 1 2 2
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2 2 1 4 5 5
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5 2 4 4 4 4
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3 3 3 4 3 4
1 2 2 5 4 4
3 4 4 5 5 5
b. Generation Algoritma
Best: -6.54878 Mean: -6.54338 o 3A\.reral_:;e Distance Between Individuals
(] + Best fitness 8
= a
g = g
L -6 \ Y -6.49564 g . ‘&*?‘.Mf-‘-‘:k'_-'.‘.‘. )
0 50 100 150 200 50 100 150 200
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E 10} .
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nj
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9. Generation 200 Iterasi 9

a. Result Code
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[ B T W N N I e R U B R iy

3

SN T N R VI NS R BV I IR N N VIR T 8]
LR LA L RO R R R R W R W

L o B L A Y 2 BV I Ny SE Y,y By Y
Bl s Ll R s WA A RS R R RS WA R
Y Sy R W R B I T R o Y T

result of computing =ss========s=============
minimize r = [ @ 8 @ 2 # 1 &8 @ 8 @ & @8 @ B 1 & @ @
Reduct of C_attributes C_reduct = [ ¢ 6 c15 c21 c49 ¢55 58 ]
targeted of C_attributes targetVWalue
the result C_reduct =

-6.5189

b. Generation Algoritma

A

Fitness value
&

&»

Expectation

Stall (T)
Stall (G)
Time
Generation

Best: -6.51092 Mean: -6.51088

. Best fitness
- Mean fitness

15¢

|
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Generation
Fitness Scaling
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10. Generation 200 Iterasi 10
a. Result Code

====================== presult of computing ======s=====s============
minimize r = [ ® & @ © 8 8 1 &8 8 @ 1 & 1 & 8 & 0 0
Reduct of C_attributes C _reduct = [ ¢ 7 cl11 c13 c20 c41 c45 c49 ]
targeted of (_attributes targetValue = -6.4899

the result C_reduct =

J T N R W R W e I o s A LV Y N I Ny
FoN NI OO I S TR IR IO SRV R S ST S O S S
T Y R TR Y IV I R R A TR N S
B R L WA R L L R R L WA L R R
[ R R Y L A o L L © I " & B SR SOy
[T SV S PV ST I TR e RN R U Y R O Y N
[ T L W N R e L L Vo W, R Sy S W By i

b. Generation Algoritma

Best: -6.48993 Mean: -6.46776 Average Distance Between Individuals
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11. Generation 200 Iterasi 11
a. Result Code
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minimize r =

the result C reduct =
2 3 3

N o W RN N I N W B L VL = ¥ o B WT I Wy R Y
(SN W N R W N A= I T WY I Wy S I W oy )
IV WU W o Iy WY Iy W W i i e W W R W
[ R N L A e e B a LW o I =y R Wy Iy )

Reduct of C_attributes C_reduct
targeted of (C_attributes targetValue =

B o W e L Al = I R Wy S Wy W, R WY

result of computing =====s======s===========
[@ @ @ @ @ @ @ @ & &8 & 1 © & @ @ @ 0
[ €12 19 c43 c49 c53 56 ]

-6.5472

b. Generation Algoritma

Best: -6.54717 Mean: -6.54667
L%} . Best fitness
% -4 . Mean fitness
>
w0
% -5
E b
w -6
A
0 50 100 150 200
Generation
Fitness Scaling
15¢
e B
'E o0
|5} -
] -
S s l
i
o —— - -
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Raw scores
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Time Y1
Generation -
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Average Distance
= N

o
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12. Generation 200 Iterasi 12
a. Result Code

====================== presult of computing ====ss=====s=============
minimize r = [ @ 2 1 @ & 2 @ 1 @ 8 @ @ @ © @ © @0 1
Reduct of C_attributes C_reduct = [ ¢ 3 ¢ 8 c18 22 ¢33 c43 58 ]
targeted of (_attributes targetValue = -6.5468

the result C_reduct =

SR I R YRR, B N VYR UV R Sy A S A R VI N R S N
Foold ool b 0 W R L RS R R R L W B R
oL R W R U R W R R R R R R R R N
F N A Y I RN I UV YR DY S R VI N R Y R N R W Ny Sy NC R U]
MMMUJM.{‘-‘-UJUJUJI—‘I—‘P\J-I—NUJMUJUJHMM
IS R WY YR B UV VYR WY R Sy i ey Y R U R WU -y S R Y]
[T S Ny NV S R VYR N RW . BV Y, T O R UV N R Sy Sy Y]

b. Generation Algoritma

Best: -6.5468 Mean: -6.5453 3Average Distance Between Individuals
Q
= -4 . Mean fitness o
= a
w0
0 -5 5}
[ (=2} 1
£ = o
L6y g
<o
0 50 100 150 200 50 100 150 200|
Generation Generation
15 Fitness Scaling Best, Worst, and Mean Scores
< .
= 10
i3]
g M
]
o ‘ e mne e It
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Raw scores Generation
Stopping Criteria
Stall (T)
Stall (G) [
X 100
Time X2 Y1
Generation VE .
0 20 40 60 80 100
% of criteria met

13. Generation 200 Iterasi 13
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a. Result Code

====================== pesult of computing ========================
minimize r=[ 1 6 @ @ @ @ 8 1 & @ 1 @ 1 8 6 @& 1 @
Reduct of C_attributes C reduct = [ ¢ 1 ¢ 8 c11 c13 c17 c41 c56 ]
targeted of C_attributes targetValue = -6.5641
the result C_reduct =

2 2 2 2 2 2 2

5 4 2 4 1 1 5

1 2 4 5 1 1 5

3 3 2 4 3 2 3

3 3 2 3 1 4 2

2 2 4 4 4 2 5

1 2 4 5 3 2 5

1 1 5 5 1 1 5

2 2 2 2 1 2 2

1 3 4 5 5 1 5

2 2 5 5 1 1 5

3 3 2 2 3 2 2

3 3 3 3 3 3 3

2 3 4 4 2 2 3

5 5 5 5 5 4 4

2 1 4 5 2 2 3

2 3 3 3 3 3 4

2 4 4 4 2 2 4

2 3 4 4 1 1 5

b. Generation Algoritma

Best: -6.56408 Mean: -6.56338 S.Average Distance Between Individuals

5]
= -4 . Mean fithess G2
> a
%]
i s
b= sl
L 6= o
— z 0
0 50 100 150 200 50 100 150 200
Generation Generation
15 Fithess Scaling Best, Worst, and Mean Scores
s
E 10
o
5]
g 5
]
0 —— s s meas s B [
-6.564 -6.562 -6.56 -6.558 -6.556
Raw scores Generation
Stopping Criteria
Stall (T)
Stall (G) AT
Time Y1
Generation 3
0 20 40 60 80 100

% of criteria met



14. Generation 200 lterasi 14
a. Result Code

b.
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result of computing
minimize r = [ @ @ @ 2 @ 1 & 2 @ @8 0 @ 8 @ 8 1 1 @
Reduct of C_attributes C_reduct
targeted of C_attributes targetValue = -6.5772
the result C_reduct =

= [ c 6 cle cl7 31 c54 c57

1

% of criteria met

2 2 2 2 2 3
ul 5 1 2 4 1
2 4 1 1 5 4
2 4 3 4 5 4
3 2 1 3 3 3
2 4 4 2 5 5
2 5 3 3 4 5
1 5 1 1 5 5
2 2 1 2 2 2
2 5 5 1 5 5
2 5 1 1 5 5
2 3 3 3 2 3
3 3 3 3 3 3
3 4 2 3 3 2
5 5 5 4 4 4
2 5 2 2 3 3
3 3 3 3 4 4
2 5 2 2 4 4
Generation Algoritma
Best: -6.57723 Mean: -6.56496 3Average Distance Between Individuals
©
% B +  Mean fitness g 2
> 5 -
@ -5 o "
£ | s L. .
6 o - . e A
: L E L w A
0 50 100 150 200 50 100 150 200]
Generation Generation
15 Fithess Scaling Best, Worst, and Mean Scores
c .
'E 10
2 :
g5 I
i
0 me e % - 1 d I
-6.6 -8.5 -6.4 -6.3 -6.2 -6.1 50 100 150 200
Raw scores Generation
Stopping Criteria
Stall (T)
Stall (G) X645
Time Y1
0 20 40 60 80 100
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15. Generation 200 lterasi 15
a. Result Code

====================== result of computing ===ss===================
minimize r=[ @8 & 8 @ 1 @ 2 @ @ 1 @ @ @ @ @ @ 1 @
Reduct of C_attributes C reduct = [ ¢ 5 c18 c17 c19 c43 c53 58 |
targeted of (_attributes targetValue = -6.5414
the result C_reduct =
2 2 2 3 3 3 3
4 2 1 1 1 5 1
1 5 1 1 1 5 4
4 1 3 3 4 2 2
3 2 1 2 3 3 3
2 4 4 3 3 4 2
1 3 3 3 3 2 4
1 5 1 1 1 5 5
2 2 1 2 1 1 2
2 4 5 5 1 4 5
2 5 1 1 1 4 5
2 3 3 3 3 2 2
3 3 3 3 3 3 3
2 4 2 3 3 1 2
5 5 5 5 5 4 4
3 5 2 2 3 2 3
3 3 3 3 3 3 2
1 4 2 2 3 3 4
3 4 1 3 1 4 4
2 1 1 3 3 3 2
2 4 2 3 2 2 3
b. Generation Algoritma
2 Best: -6.54136 Mean: -6.53922 Acv%rage Distance Between Individuals
% 4 . Best ﬂt_ness é
> . Mean fitness a 2
35 ©
= g1
ALY g,
0 50 100 150 200 < 50 100 150 200
Generation Generation
Fitness Scaling Best, Worst, and Mean Scores
E 15 R
b 10
Q
g5
076.54 -6.535 -6.53 -6.525 50 100 150 200
Raw scores Generation
Stopping Criteria
Stall (T)
Stall (G) X 100
Time Y1
Generation »
0 50 100
% of criteria met




16. Generation 200 lterasi 16
a. Result Code

171

minimize r
Reduct of C_attributes C_reduct
targeted of C_attributes targetValue
the result C_reduct

2 2

[ R VYR ST TENT . B N R UYR N N NN iy Sy Wy N R YRy Sy S N
[ T Y W B SO ST RN VRN Y (ST R UV -y N Iy N
PO R L R U R W L LT P e
R RS I VTI Y R UV R YR VR Sy N S YR UV Ry N WYy Sy Y
Y R S R U R UYRT B UV R UV R WY Ry Sy Sy ey Ry Y R UV R UV [ -y R S Y
mwpwwmppwmpp@mmhwmmmw

result of computing
[® @ @ @ 1 @ @ @ @ 1 @ @ @ @ @ @ 1 O
[ €5 c18 c17 c19 c43 53 c58 ]

-6.5414

[ LY o R Y I R S RN R S VT -

b. Generation Algoritma

Best: -6.54639 Mean: -6.53526 3Average Distance Between Individuals
©

:
= -4 - Mean fitness 2
> a
%]
o -5 [
4} =N
s m I
L -prs ﬂ>J

- <

0 50 100 150 200
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15 Fitness Scaling Best, Worst, and Mean Scores
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5 ° I_
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o om mmem  ase am s I i Tl
-6.6 -6.5 -6.4 -6.3 -6.2 -6.1 50 100 150 200
Raw scores Generation
Stopping Criteria
Stall (T)
Stall (G) R ERE
Time Y1
Generation ]
0 20 40 60 80 100
% of criteria met
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17. Generation 200 Iterasi 17
a. Result Code

====================== result of computing ==ss=s=s=s===============
minimize r = [ @ © @ 8 1 8 8 8 @ 1 @8 8 8 8 B8 B8 1 @
Reduct of C_attributes C reduct = [ ¢ 5 cl18 17 ¢19 c43 c53 58 ]
targeted of C_attributes targetValue = -6.5414

the result C_reduct =

(R R ET RSN PV YR B R UTRN N N N Ry ST T I N S - N
F N O Y AW B N TR Y N I N A T N L ]
PO R R LRI LA RS LU L RS LA R R LU a2 L R e g
Wl W R W RS W W W L S A RS R Ll R W L
R T Y W FU B Y R e e LYY B VU WY I Ny ey S Y
mwpwwmhl—rwmbhl—‘rmmpwmmmw
L R o L e W Y Y R S TN Y N

b. Generation Algoritma

Best: -6.53589 Mean: -6.53098 3A\.'erf:\ge Distance Between Individuals

[+
5 . -
= 4 Mean fithess Bolk
> el .
» t
o -5 o %
o . =}
=R ] gl TaltE v
T -glY o % SV ymntland s .
A L W 2 i P
0 50 100 150 200 50 100 150 200
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15 Fitness Scaling Best, Worst, and Mean Scores
< .
= 10 R
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Raw scores Generation
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Stall (G) X 100
Time Y1
Generation -
0 20 40 60 80 100

% of criteria met
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18. Generation 200 lterasi 18
a. Result Code

==mmmmmssssmmsssmm====== papgylt of computing ========================
minimize r = [ @ & & 8 1 8 &8 1 &8 8 @ &8 8 1 1 @ B8 0
Reduct of C_attributes C reduct = [ ¢ 5 ¢ 8 cl4 15 c22 c4l c49 |
targeted of C_attributes targetValue = -6.5359
the result C_reduct =
2 2 2 2 3 2 1
4 4 4 5 2 1 1
1 2 5 5 1 1 5
4 3 3 3 4 2 2
3 3 3 4 3 4 4
2 2 4 4 2 2 5
1 2 5 5 3 2 5
1 1 5 5 1 1 5
2 2 2 2 2 2 1
2 3 5 5 3 1 1
2 2 4 5 2 1 4
2 3 2 2 3 2 2
3 3 3 3 3 3 3
2 3 5 4 3 2 3
5 5 5 4 5 4 4
3 1 4 5 2 2 3
3 3 3 2 3 3 3
1 4 4 4 4 2 5
3 3 4 4 2 1 5
b. Generation Algoritma
Best: -6.56067 Mean: -6.55726 sAverage Distance Between Individuals
] . Best fitness §
% -4 - Mean fithess *E 2
- 5%
(2]
o -5 (3] .
E P Flii o ; \
= . 5 Y % o
Sl 2, SR M
0 50 100 150 200 50 100 150 200
Generation Generation
5, Fitness Scaling Best, Worst, and Mean Scores
c
.% 10+
2
i}
E)Ei.56 -6.54 -6.52 -6.5 50 100 150 200
Raw scores Generation
Stopping Criteria
Stall (T)
Stall (G) X 100
Time Y1
Generation .
0 20 40 60 80 100

% of criteria met
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19. Generation 200 Iterasi 19
a. Result Code

====================== result of computing ==s==s=s==s===============
minimize r = [ @ 1 @ @ 8 8 B 8 @ @ @ 8@ 8 @ B B © O
Reduct of C_attributes C reduct = [ ¢ 2 ¢l19 ¢21 c31 ¢35 c44 54 ]
targeted of C_attributes targetValue = -6.4849

the result C_reduct =

S T Y R N R Y I N N W N L = I IO SR R NI W
SRS PR PR UT R TR Y R PY O T R FT R S i N R e T R T T e
I N R T R N W I L B I I I UV R PV T
| T S R WY T Y R S o W W R W R P (S R WU Sy S ]
S o R BT e e W e Y N B R VT I (S I U SNy Ny R
SRR VI R R U Y R Y R W R Y R R A T T T N Y =
F V. I -SSR Y I N IR WU R RV I, [ RV, - R SURRT, R, -V

b. Generation Algoritma

Best: -6.48492 Mean: -6.48489 Average Distance Between Individuals

5] 3
w . Best fitness g
24 = Mean fitness g 208
> a |
1]
@ .5 o z
7] D9l
I o .
[ -6 =. 5>-’ 3
k" \ , Lol A . ,
0 50 100 150 200 50 100 150 200
Generation Generation
15 Fitness Scaling Best, Worst, and Mean Scores

c * B
210 |
B . -4
Q .
5 l_._
]

— .. -6

0 P
-6.485 -6.4848 -6.4846 -6.4844 50 100 150 200
Raw scores Generation
Stopping Criteria
Stall (T)
Stall (G) X 57
Time Y1
Generation &
0 20 40 60 80 100

% of criteria met



20. Generation 200
a. Result Code

Iterasi 20
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L W o o W N e b e L R I S T S I e N T

result of computing
[ @ @ &6 1 @ @ @ @ @ B @ B 1 @8 1
[ €5 cld4 cl16 ¢33 c47 58 ]

minimize r =

Reduct of C_attributes C _reduct =

targeted of C_attributes targetWalue

the result C_reduct =
2 2 2 2
4 4 5 2
1 5 4 1
4 3 4 3
3 3 2 3
2 4 4 2
1 5 5 3
1 5 5 1
2 2 2 2
2 5 5 1
2 4 5 1
2 2 3 3
3 3 3 3
2 5 4 3
5 5 5 4
3 4 5 2
3 3 3 3

| S W Ny R W AT S () (S W R O R W R ]

= -6.5798

b. Generation Algoritma

Best: -6.57979 Mean: -6.57323
V] . Best fitness
% -4 «  Mean fitness
>
?-5
2
Teh
0 50 100 150 200
Generation
Fitness Scaling
15
< .
= 10 .
15] -
(] -
i L
w
0 = : - '
-6.6 -6.55 -6.5 -6.45 -6.4
Raw scores
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Stall (G) R
Time Y1
Generation -
0 20 40 60 80 100
% of criteria met

3.A\terage Distance Between Individuals
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Generation
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200

100
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21. Generation 200 lIterasi 21
a. Result Code

====================== result of computing =ss=s==s==s=====s=========
minimize »r = [ ® @8 8 @ @ 1 8 @ @ 6@ & 8 @ @ 1 @& @ @
Reduct of C_attributes C_reduct = [ ¢ 6 cl15 c20 c21 c4l c47 55 ]
targeted of C_attributes targetWValue = -6.5454

the result C_reduct =
3

IRV R TR R R YR U YR I N N N R R R AR W N N R S
S S S R RN S FY RN NI, YW NV, W R S Sy FYRY, RV, BN
VTR SN S TRV S UTR TR IVl SR FTRT, RYUVEN SR

T R R U N i S Y R N Ry Sy N B R U N Y R
I TN R TR NSy N R UV R Ry R N R N R S N
T Y RV R S YR U R Y Ry Ry N R T R R N N
N R YR R VT R A YR FY RN R S W R Y IR R N Y, RS

b. Generation Algoritma

Best: -6.54543 Mean: -6.54274 Average Distance Between Individuals
w3
= -
= 4 Mean fitness & 2
> a
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v -5 7]
[¢] f=2}
5 4 a1
6% 2
L <,
0 50 100 150 200 50 100 150 200
Generation Generation
5. Fitness Scaling Best, Worst, and Mean Scores
< .
E 0r
3 .
) »
2 s |
W
o . — P
-6.55 654 -6.53 -652 -6.51 -6.5 50 100 150 200
Raw scores Generation
Stopping Criteria
Stall (T)
stall (G) o
X 100
Time X2 Y1
Generation || °
0 20 40 60 80 100
% of criteria met




22. Generation 200 lterasi 22
a. Result Code

177

====================== result of computing ========================
minimize r = [ ® 8 1 @ 6 8 &8 2 8 & @ @8 1 6 8 & 1 0
Reduct of C_attributes C_reduct = [ ¢ 3 €13 17 ¢33 4l 55 ]
targeted of C_attributes targetValue = -6.5446
the result C_reduct =
2 2 2 2 2 2
4 4 1 2 1 1
2 5 1 1 1 5
2 4 3 3 2 2
3 3 1 3 4 2
2 4 4 2 2 2
2 5 3 3 2 2
1 5 1 1 1 5
2 2 1 2 2 1
1 5 5 1 1 5
1 5 1 1 1 4
3 2 3 3 2 2
3 3 3 3 3 3
2 4 2 3 2 3
5 5 5 4 4 4
3 5 2 2 2 3
3 3 3 3 3 2
2 4 2 2 2 3
b. Generation Algoritma
Best: -6.5446 Mean: -6.53999 3‘A\t'erage Distance Between Individuals
o . Best fitness §
25 ﬂ
e g
firg ‘1 g
0 50 100 150 200 50 100 150 200
Generation Generation
15 Fitness Scaling 5 Best, Worst, and Mean Scores
5
g 10 u
g s
[}
0 ; —ram s 6 I I
-6.54 -6.52 -6.5 -6.48 50 100 150 200
Raw scores Generation
Stopping Criteria
Stall (T)
Stall (G)
Time
Generation
0 20 40 60 80 100
% of criteria met
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23. Generation 200 lIterasi 23

a.

b.

Result Code

====================== result of computing ========================
minimize r = [ 1 8 ® 1 8 8 8 B 8 1 8 8 @8 8 1 @8 8 @
Reduct of C_attributes C reduct = [ ¢ 1 ¢ 4 18 c15 28 c38 c44 ]
targeted of (_attributes targetValue = -6.5412

the result C reduct =

2 2 2 2 3 3 2
5 5 2 5 2 1 1
1 1 5 5 1 1 1
3 2 1 3 2 4 2
3 3 2 4 3 3 3
2 2 4 4 5 2 3
1 2 3 5 3 4 3
1 1 5 5 1 1 1
2 2 2 2 2 2 2
1 1 4 5 5 1 1
2 2 5 5 2 1 1
3 3 3 2 3 2 3
3 3 3 3 3 3 3
2 2 4 4 2 3 3
Generation Algoritma
Best: -6.54123 Mean: -6.54122 é\verage Distance Between Individuals
5]
% -4 «  Mean fithess £,
> 5 %
@ 5 ] ’
@ D1t
E h @
Lt o %
A , . , ol . , ,
0 50 100 150 200 50 100 150 200
Generation Generation

Best, Worst, and Mean Scores

15 2
.
w0
. -4
5 L
——ttem mrmm e w mae 6
0
50 100

Expectation

150 200

-6.54124 -6.54122 -6.5412 -6.54118 -6.54116

Raw scores Generation
Stopping Criteria

Stall (T)
Stall (G)
Time
Generation

0 20 40 60 80 100
% of criteria met




179

24. Generation 200 lterasi 24
a. Result Code

====================== result of computing ========s===============
minimize r=[1 8 1 & 8 1 8 8 8 @ 8 1 © 1 © B8 @
Reduct of C attributes C reduct = [ ¢ 1 c 4 ¢ 7 ¢l13 15 c41 53 ]
targeted of (C_attributes targetWValue = -6.5662
the result C_reduct =
2 2 2 2 2 2 3
5 5 4 4 5 1 5
1 1 2 5 5 1 5
3 2 4 4 3 2 2
3 3 3 3 4 4 3
2 2 2 4 4 2 4
1 2 2 5 5 2 2
1 1 1 5 5 1 5
2 2 2 2 2 2 1
1 1 2 5 5 1 4
2 2 1 5 5 1 4
3 3 3 2 2 2 2
3 3 3 3 3 3 3
2 2 3 4 4 2 1
5 5 5 5 4 4 4
2 2 1 5 5 2 2
2 3 3 3 2 3 3
2 1 4 4 4 2 3
2 3 3 4 4 1 4
b. Generation Algoritma
Best: -6.56618 Mean: -6.55217 3A\rerage Distance Between Individuals
E -4 *«  Mean fitness g 2 .
g ot
.*LE: s gl ..'&'*"q."'-b;\ SR p
& HEE AN WY
0 50 100 150 200 50 100 150 200
Generation Generation
15 Fitness Scaling Best, Worst, and Mean Scores
c .
E 10 .
2 .
g s L
L
0 1 b Ema \. - e L |. IRE =5 i 18 i
-6.6 -6.55 -6.5 -6.45 -6.4 50 100 150 200
Raw scores Generation
Stopping Criteria
Stall (T)
Stall (G) % 100
Time Y1
Generation »
0 20 40 60 80 100
% of criteria met
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25. Generation 200 lIterasi 25
a. Result Code

====================== presult of computing ========s===============
minimize r = [ ® 1 @ @ 8 & @ 8 8 P 8 8 @ & 1 8 0 O
Reduct of C_attributes C reduct = [ ¢ 2 c15 28 c48 <53 54 ]
targeted of C_attributes targetValue = -6.5683
the result C_reduct =

2 2 3 3 3 2

5 5 2 1 5 4

2 5 1 5 5 5

2 3 2 2 2 5

3 4 3 4 3 3

1 4 5 3 4 5

2 5 3 3 2 4

1 5 1 5 5 5

2 2 2 1 1 2

1 5 5 1 4 5

1 5 2 4 4 5

2 2 3 2 2 2

3 3 3 3 3 3

2 4 2 3 1 3

4 4 5 4 4 4

2 5 3 2 2 3

3 2 2 4 3 4

1 4 2 5 3 4

2 4 2 5 4 5

3 2 3 3 3 1

2 4 2 3 2 4

b. Generation Algoritma

Best: -6.56029 Mean: -6.53642 3A\.rer:.-n_:|e Distance Between Individuals

Q
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L5 [ oy S P
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Generation Generation
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Time X4 Y1
Generation ]
0 20 40 60 80 100

% of criteria met

26. Generation 200 Iterasi 26
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a. Result Code

====================== pesult of computing =====ss=================
minimize r = [ & © ® 8 &8 B 1 8 @ 8 & B 1 8 8 @ © O
Reduct of C_attributes C reduct = [ ¢ 7 c13 c21 c44 c50 c58 ]
targeted of C_attributes targetValue = -6.5853
the result C_reduct =
2 2 3 2 3 3
4 4 3 1 5 1
2 5 1 1 5 4
4 4 2 2 4 2
3 3 3 3 5 3
2 4 2 3 5 2
2 5 2 3 5 4
1 5 1 1 5 5
2 2 2 2 2 2
2 5 1 1 1 5
1 5 2 1 5 5
3 2 2 3 3 2
3 3 3 3 3 3
3 4 1 3 5 2
5 5 5 5 4 4
1 5 2 2 2 3
3 3 3 3 3 2
b. Generation Algortima
Best: -6.58526 Mean: -6.54301 3Average Distance Between Individuals
g Z2
@5 0]
T 6l . o
L -6 . 2 .
0 50 100 150 200
Generation Generation
15 Fitness Scaling Best, Worst, and Mean Scores
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g 10 :
& s L
[nj
o a [ - = R
-6.6 -6.55 -6.5 -6.45 50 100 150 200
Raw scores Generation
Stopping Criteria
Stall (T)
Stall (G)
Time
cenerato
0 20 40 60 80 100
% of criteria met




27. Generation 200 Iterasi 27
a. Result Code

182

result of computing

minimize r
Reduct of C_attributes C_reduct
targeted of C_attributes targetValue

the result C_reduct

-b.

[T R WY R RV S WY RSN R W R FY WY Ry S A A B A NPT  R
N A O N Y R Y I ¥ RV R - S FTRN Y B W
R W R W RN R WNRE B MNREPE RN BRRNE RN
RO L R ORI L R LU R LD RS R R R P R L R R RN
T N e L B L L Y B L% I = N SR R R Ry S A
Y N I B W N L o Y B O ¥ I, IV, B - U R Y,y g
N T I = O U A U T R U Y IV R S RV R Y R TR BT, R -y

(e @ ¢ @ 6 @ 1 & 6 @ & @ @ @ 1 8 B 1
[ € 7 c15 18 27 c47 c49 54 ]

5298

b. Generation Algoritma

Best: -6.52975 Mean: -6.51653 3A\.'erage Distance Between Individuals
]
= - Mean fitness 72
> B LY
@ 5 v |
. S0
1
E “- g o - ._‘ » - [ rl
el § |4 Mot 5wl o,
3 3, W ? % "F'?"v‘d""!“m-"‘;f
0 50 100 150 200 50 100 150 200
Generation Generation
15 Fitness Scaling Best, Worst, and Mean Scores
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° .
5 L
]
o m—- maa . i o =
-6.6 6.4 -6.2 -6 50 100 150 200
Raw scores Generation
Stopping Criteria
Stall (T)
Stall (G) % 100
Time Y1
Generation 3
0 20 40 60 80 100
% of criteria met
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28. Generation 200 lIterasi 28
a. Result Code

====================== result of computing s=======================
minimize r = [ @ 8 1 8 8 @ 1 @ 1 8 8 1 @ 8 8 @ & 8
Reduct of C_attributes C_reduct = [ ¢ 3 ¢ 7 ¢ 9 c12 ¢35 c43 c48 ]
targeted of C_attributes targetWValue = -6.5555
the result C_reduct =
2 2 2 2 3 3 3
4 4 4 4 2 1 1
2 2 1 5 2 1 5
2 4 2 3 4 4 2
3 3 2 4 3 3 4
2 2 2 5 2 3 3
2 2 2 4 3 3 3
1 1 1 5 1 1 5
2 2 2 1 2 1 1
1 2 2 5 1 1 1
1 1 1 5 1 1 4
3 3 2 3 3 3 2
3 3 3 3 3 3 3
2 3 2 5 2 3 3
5 5 5 5 5 5 4
3 1 1 5 2 3 2
3 3 3 3 3 3 4
2 4 2 4 2 3 5
2 3 2 4 1 1 5
2 3 2 2 3 3 3
b. Generation Algoritma
] Best: -6.55554 Mean: -6.52449 3Average Distance Between Individuals
o . Best fitness a‘é
:
o4 a
g g
£ d
el E
0 50 100 150 200 50 100 150 200
Generation Generation
15 Fitness Scaling Best, Worst, and Mean Scores
s
E 10
o
g5
¢
o me emmmmaaa . . ]
-6.54 -652 -65 -6.48 -6.46 -6.44 50 100 150 200
Raw scores Generation
Stopping Criteria
Stall (T)
stall (G) [
Time r | X4 leog
Generation ]
0 20 40 60 80 100
% of criteria met




29. Generation 200 Iterasi 29
a. Result Code

184

minimize r =

the result C_reduct =

| N W W I N N s A o S LN WU Ty (N gy
L W R S W S W R B L RN Tl (S N i WU iy Ry
[ L o W e R W R B E= BT (W W S Ty oy
| e o R B B R R e I L AEE B L R PR ¥, Ry W

Reduct of C_attributes C_reduct
targeted of (_attributes targetValue

L e o W R W o i = B R WY ¥ i WU -y Ly S R WY

result of computing
[ @ 1 @ 2@ @ 1 @ 1 @ @ 1 @ @ @ @ @ O
=[] c3Ic7c9cl?2c35cdd c48 ]

L W N W W I L e =i L Y R WY I W R Ny e W

= -6.5555

L N B e et L LT WY I -y Ry B WY

b. Generation Algoritma

Best: -6.538 Mean: -6.53254

(4] i Best fitness
= -4 +  Mean fitness
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Fitness Scaling
15
< B
= 107,
15} .
Q -
5 L
L
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% of criteria met
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30. Generation 200 Iterasi 30
a. Result Code

====================== result of computing ====s====================
minimize r = [ @ © @ 1 @ @ @ @ @ © @ @ @ @ @ @ @ 1
Reduct of C_attributes C reduct = [ ¢ 4 cl18 c39 c43 cd6 c49 |
targeted of C_attributes targetValue = -6.5788

the result C_reduct =

2 2 2 3 2 1
5 1 1 1 1 1
1 1 1 1 1 5
2 2 4 4 4 2
3 2 4 3 2 4
2 4 2 3 2 5
2 2 2 3 2 5
1 1 1 1 1 5
2 2 1 1 2 1
1 4 1 1 1 1
2 1 1 1 1 4
3 2 3 3 3 2
3 3 3 3 3 3
2 1 3 3 3 3
5 5 4 5 4 4
2 2 2 3 2 3
3 3 3 3 3 3
1 1 1 3 4 5
3 3 1 1 1 5
4 1 3 3 3 2
2 3 2 2 2 3
b. Generation Algoritma
Best: -6.57084 Mean: -6.56796 R 3A\rerage Distance Between Individuals
E Zop
g &
£ ol
o -6 \‘._ g .
0 50 100 150 200 50 100 150 200
Generation Generation
15 Fitness Scaling . Best, Worst, and Mean Scores
< .
g 10 : .
L
A
o : saes s . - . -6 T - I
-6.58 -657 -6.56 -655 -654 -653 50 100 150 200
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Stall (G) X 99
Time Y1
Generation »

20 40 60 80 100
% of criteria met
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31. Generation 200 Iterasi 31
a. Result Code

====================== result of computing =ss===s===s===============
minimize r = [ ® & 8 @8 8 8 1 & B & 8 06 B8 @8 B8 8 1 @
Reduct of C_attributes C reduct = [ ¢ 7 ¢17 €19 ¢33 ¢34 <53 ]
targeted of C_attributes targetValue = -6.587
the result C_reduct =
2 2 3 2 3 3
4 1 1 2 2 5
2 1 1 1 1 5
4 3 3 3 2 2
3 1 2 3 3 3
2 4 3 2 2 4
2 3 3 3 2 2
1 1 1 1 1 5
2 1 2 2 2 1
2 5 5 1 1 4
1 1 1 1 1 4
3 3 3 3 3 2
3 3 3 3 3 3
3 2 3 3 2 1
5 5 5 4 5 4
1 2 2 2 2 2
3 3 3 3 3 3
4 2 2 2 1 3
3 1 3 2 1 4
3 1 3 2 2 3
3 2 3 2 1 2
] A A ) A A
b. Generation Algoritma
Best: -6.50695 Mean: -6.50668 3.pl\\t'(-.\rage Distance Between Individuals
5 4 Best fitness %
g Mean fitness g
[T \ g
0 50 100 150 200
Generation Generation
15 Fitness Scaling Best, Worst, and Mean Scores
c
% 10
(5]
g s
w
R
6.5 -6.49 -6.48 -6.47 -6.46
Raw scores Generation
Stopping Criteria
Stall (T)
stall (G) [# X 100
Time || X2 Y1
ceneraton || °
0 50 100
% of criteria met




32. Generation 200 Iterasi 32
a. Result Code
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2

[T S S T W Ry T W N W o B T LS o T S N RV |

minimize r =
Reduct of C_attributes C_reduct
targeted of (C_attributes targetValue
the result C_reduct =

2

e LS I A LA (S IRV, I RV, RN, R N SR VR, W |

3

[ N B o N W N R W B Ll VR WT Ry gy 8]
e I o e S R L A S R, By S R W Wy e R R S R N W ]

[ O L R W Iy L A R N R W W T L T L B S R WE R iy oy R W)

result of computing ========================
[ 1 8 8 @ 8 B B &8 B 8 @ B B 1 @8 B8 @
=[ c 2 cl5 c22 c34 37 39 57 ]

[ O R Wy e R W N W R W N i i L L R o T T ]

= -6.5294

[ I o N N B S I W W N I I N Y W R A ]

b. Generation Algoritma

Fitness value

e

Best: -6.5294 Mean: -6.52939

. Best finess
. Mean fitness

15

10

Expectation
w

50 100 150

_Generation
Fitness Scaling

200

-6.5

Stall (T)
Stall (G)
Time

294

Generation F-

-6.52936

Raw scores _
Stopping Criteria

X255
Y1

-6.52932

0

50
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100

Average Distance

3
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1
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50 100 150 200
Generation
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-2
-4

Average Distance Between Individuals

50 100 150 200
Generation




33. Generation 200 lIterasi 33
a. Result Code
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====================== result of computing ========================
minimize » = [ ® 8 @ @ @ 8 @ 8 1 8 @ 1 &8 @8 8 1 @8 8 1
Reduct of C_attributes C reduct = [ ¢ 9 ¢l12 cl6 19 c36 c43 c48 c54 ]
targeted of C_attributes targetWalue = -6.5339
the result (_reduct =
2 2 2 3 3 3 3 2
4 4 5 1 1 1 1 4
1 5 4 1 1 1 5 5
2 3 4 3 1 4 2 5
2 4 2 2 3 3 4 3
2 5 4 3 1 3 3 5
2 4 5 3 2 3 3 4
1 5 5 1 1 1 5 5
2 1 2 2 2 1 1 2
2 5 5 5 1 1 1 5
1 5 5 1 2 1 4 5
2 3 3 3 2 3 2 2
3 3 3 3 3 3 3 3
2 5 4 3 2 3 3 3
5 5 5 5 5 5 4 4
1 5 5 2 3 3 2 3
3 3 3 3 3 3 4 4
2 4 5 2 2 3 5 4
b. Generation Algortima
Best: -6.53392 Mean: -6.53391 R éverage Distance Between Individuals
:
g-s EH
sk g1
2 T |
Y . . ‘ 2 LA . ‘ ‘
0 50 100 150 200 50 100 150 200
Generation Generation
15 Fitness Scaling s Best, Worst, and Mean Scores
5 10
% -4
5
L
e cpteEm v EREE & B Ma B F8 8 -6
-6.053392 -6.5339 -6.53388 -6.53386 -6.53384 50 100 150 200
Raw scores Generation
Stopping Criteria
Stall (T)
Stall (G)
Time
Generation
0 20 40 60 80 100
% of criteria met




189

34. Generation 200 Iterasi 34
a. Result Code

====================== pesult of computing =======s=================
minimize r = [ ® 8 @8 © 8 8 6 1 6 # & @8 8 8 & 1 & 1
Reduct of C_attributes C reduct = [ ¢ 8 cl6 cl8 c48 c4l c58 ]
targeted of C_attributes targetValue = -6.5111

the result C_reduct =

I TR e T R U R UV R N R B R P I R ST R FVR N S
(EL IR VTR, IV, R - U R VTR, R W R, W, T Ny N W [ S
IRV W e W R Bl S I o S B S T e
B TR N T T R BV N T R Ty N ey A A N N
-MUJM-I‘:-MWMI—*I—*N.{I—*MM-I‘AMI—*I—*M
B R PV S R FV R N, I W, B W - R WY I AU Sy RSy Y

b. Generation Algoritma

Best: -6.51108 Mean: -6.48825 3A\.'erage Distance Between Individuals
o

:
§ . Mean fithess E 2
n 4 Q
g 4]
= » g1
T [ o

-6 . é 0

0 50 100 150 200 50 100 150 200
Generation Generation

15 Fitness Scaling Best, Worst, and Mean Scores
= * 7
i=]
= 0r
O »
Q »
N I_
]

o e e m emaa .

-6.6 -6.4 -6.2 -6 -5.8

Raw scores Generation
Stopping Criteria
Stall (T)
Stall (G) [ % 100
Time X4 Y1
Generation 3
0 20 40 60 80 100
% of criteria met
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35. Generation 200 Iterasi 35
a. Result Code

====================== pesult of computing =======s=================
minimize r=[ @ 8 @ © 8 8 8 @ 8 1 & &8 & 8 B8 1 B8 @
Reduct of C_attributes C reduct = [ c18 cl6 c29 c37 c39 c54 ]
targeted of C_attributes targetValue = -6.5557
the result C_reduct =
2 2 2 3 2 2
2 5 5 1 1 4
5 4 5 1 1 5
1 4 3 4 4 5
2 2 3 3 4 3
4 4 5 2 2 5
3 5 4 2 2 4
5 5 5 1 1 5
2 2 2 2 1 2
4 5 5 1 1 5
5 5 2 1 1 5
3 3 3 3 3 2
3 3 3 3 3 3
4 4 5 2 3 3
5 5 2 5 4 4
5 5 2 2 2 3
3 3 3 3 3 4
4 5 2 2 1 4
b. Generation Algoritma
5 Best: -6.55573 Mean: -6.55431 3A\rerage Distance Between Individuals
E 4 . Mean fitness g 2 )
g A
= SO N g spac -
o :'h— § 0 ’ wﬁdtrmﬂ%ﬁv{ﬁ#\f‘\.
0 50 100 150 200 50 100 150 200
Generation Generation
15 Fitness Scaling Best, Worst, and Mean Scores
s
'E 10¢
8 b
= |
i
o - arnm me . ) .
-6.554 -6.552 -6.55 -6.548 -6.546 -6.544
Raw scores Generation
Stopping Criteria
Stall (T)
Stall (G) 2 AET
Time Y1
Generation -
0 20 40 60 80 100
% of criteria met




36. Generation 200 Iterasi 36
a. Result Code
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====================== result of computing =====s===================
minimize r = [ @ @ 8 8 1 & @ @ @ @ @ @ 1 8 8 8 1 1
Reduct of C_attributes C_reduct = [ ¢ 5 ¢13 c17 c18 ¢33 c39 <55 ]
targeted of C_attributes targetValue = -6.5434
the result C_reduct =
2 2 2 2 2 2 2
4 4 1 1 2 1 1
1 5 1 1 1 1 5
4 4 3 2 3 4 2
3 3 1 2 3 4 2
2 4 4 4 2 2 2
1 5 3 2 3 2 2
1 5 1 1 1 1 5
2 2 1 2 2 1 1
2 5 5 4 1 1 5
2 5 1 1 1 1 4
2 2 3 2 3 3 2
3 3 3 3 3 3 3
2 4 2 1 3 3 3
5 5 5 5 4 4 4
3 5 2 2 2 2 3
3 3 3 3 3 3 2
1 4 2 1 2 1 3
b. Generation Algoritma
Best: -6.54345 Mean: -6.53754 3A\.'erage Distance Between Individuals
- [}
:
§ - Mean fitness ’é 2f
2" ° |-
3] Cnl 4
£ S 2 .
et [5] a 3 . 40 . .
RN 2 LAY R
0 50 100 150 200 50 100 150 200
Generation Generation
15 Fitness Scaling Best, Worst, and Mean Scores
< .
’g 10 .
o :
£ 5 l-
]
0 mimem e omrm e . . T
-6.6 -6.4 -6.2 -6 50 100 150 200
Raw scores Generation
Stopping Criteria
Stall (T)
Stall (G) SRS
Time Y1
Generation od
0 20 40 60 80 100
% of criteria met
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37. Generation 200 Iterasi 37
a. Result Code

====================== presult of computing ===s===s=================
minimize r= [ @ @ @ @ @ 1 @ @ © @ @ @ 1 8 1 @ © 1
Reduct of C_attributes C reduct = [ ¢ 6 ¢13 ¢15 c18 ¢33 c39 55 ]
targeted of C_attributes targetValue = -6.5665
the result C_reduct =

2 2 2 2 2 2 2

4 4 5 1 2 1 1

2 5 5 1 1 1 5

2 4 3 2 3 4 2

3 3 4 2 3 4 2

2 4 4 4 2 2 2

2 5 5 2 3 2 2

1 5 5 1 1 1 5

2 2 2 2 2 1 1

2 5 5 4 1 1 5

2 5 5 1 1 1 1

2 2 2 2 3 3 2

3 3 3 3 3 3 3

3 4 4 1 3 3 3

5 5 4 5 4 4 4

2 5 5 2 2 2 3

3 3 2 3 3 3 2

2 4 4 1 2 1 3

3 4 4 3 2 1 2

1 1 2 1 2 3 1

3 3 4 3 2 2 3

b. Generation Algoritma

Best: -6.56646 Mean: -6.5652 Average Distance Between Individuals
Q3
2
= . Mean fitness 7 2
> 5 %
% 5 o |
1= ? 1 'o f .
L -6 RS S e
o Z 0 A Y L i ) Liv
0 50 100 150 200 50 100 150 200
Generation Generation
15 Fitness Scaling Best, Worst, and Mean Scores
) ,
5
E 10 .
|5} -
@ .
5’ [_..
|
0 — s mrm . ‘ . . i iy T [ =
-6.58 -6.56 -6.54 -6.52 -6.5 50 100 150 200
Raw scores Generation
Stopping Criteria
Stall (T)
Stall (G) %7 96T
Time Y1
Generation CJ
0 20 40 60 80 100
% of criteria met




38. Generation 200 Iterasi 38
a. Result Code
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minimize r =
Reduct of C_attributes C_reduct =
targeted of C_attributes targetWalue
the result C_reduct =
3

Wl sl LA L W R RS R RS RS L P R s RO
(R N S FYRNE . IV, N YR RN RV, I N, R R S UTR Y N
[EVTR I R R TINY. B I VR FTRY NN, By SR ST Y, RUTRY Ry X

[ R VTR S FY R U R S N UV R IV S Sy e R AU S T
STV R T FY R U R S TR YR UVINY, RSy Y YUY UYRN N Y Y Ry Y
F N N T S Y Y R Y ST RS TRV U SCRy

====================== result of computing =====================c==
[ 2 8 B & &8 1 &8 6 & 6 @ 1 @ 68 06 06 B8 O
[ ¢ 7 c13 €20 30 45 51 52 53 ]

-6.5017

[ L O T N N N R T Y S
[ BT I = WU WU I N R = N O - T Ll I = W S RV BV B

b. Generation Algoritma

Best: -6.50174 Mean: -6.50173

2] . Best fitness
24 «  Mean fitness
>
@
a5
=
g b
-6 ‘L
0 50 100 150 200
Generation
Fitness Scaling
15
g .
'E 107,
o -
@ -
i L
A
0 ——tes oas memss & sa .
-6.50174 -6.5017 -6.50166
Raw scores
Stopping Criteria
Stall (T)
Stall (G)
Time
Generation

0 20 40 60 80 100
% of criteria met

:.;-\verage Distance Between Individuals
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Q
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[

w2t

[=}

s |-

R

g H

gl - . , .
50 100 150 200

Generation

Best, Worst, and Mean Scores

-2
-4
-6
50 100 150 200

Generation
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39. Generation 200 Iterasi 39

a.

b.

Result Code
====================== result of computing ==s===s=s=================
minimize r = [ ® & # 1 8 6 8 & # @ @ 8 1 @8 8 8 0 0 1
Reduct of C_attributes C_reduct = [ ¢ 4 c¢13 c19 €29 ¢35 c4l ¢52 ]
targeted of C_attributes targetValue = -6.5583
the result C_reduct =
2 2 3 2 3 2 1
5 4 1 5 2 1 2
1 5 1 5 2 1 5
2 4 3 3 4 2 3
3 3 2 3 3 4 4
2 4 3 5 2 2 5
2 5 3 4 3 2 5
1 5 1 5 1 1 5
2 2 2 2 2 2 2
1 5 5 5 1 1 3
2 5 1 2 1 1 5
3 2 3 3 3 2 2
3 3 3 3 3 3 3
2 4 3 5 2 2 5
5 5 5 2 5 4 4
2 5 2 2 2 2 2
3 3 3 3 3 3 4
1 4 2 2 2 2 4
3 4 3 4 1 1 5
Generation Algoritma
Best: -6.55032 Mean: -6.52113 Average Distance Between Individuals
7] + Best fithess né :
> a 2f
2 -5 o |-
£l TN e es ot
= o - » -
AL . = TN TN,
0 50 100 150 200 50 100 150 200
Generation Generation
15, Fitness Scaling Best, Worst, and Mean Scores
5
E 10t
2
g 5
[}
—."'_.- » me X . X =
-6.55 -6.5 -6.45 -6.4 -6.35 50 100 150 200
Raw scores Generation
Stopping Criteria
Stall (T)
Stall (G) G
Time Y1
Generation -
0 20 40 60 80 100
% of criteria met




195

40. Generation 200 lterasi 40

a.

b.

Result Code
====================== result of computing ==s=s=====s=s============
minimize r = [ ® @ @ @ 8 1 &8 & © 1 & & @ 6 @8 8 1 @
Reduct of C_attributes C reduct = [ ¢ 6 1@ c17 c35 c4l1 c49 ¢52 ]
targeted of C_attributes targetVWalue = -6.5581
the result C_reduct =
2 2 2 3 2 1 1
4 2 1 2 1 1 2
2 5 1 2 1 5 5
2 1 3 4 2 2 3
3 2 1 3 4 4 4
2 4 4 2 2 5 5
2 3 3 3 2 5 5
1 5 1 1 1 5 5
2 2 1 2 2 1 2
2 4 5 1 1 1 3
2 5 1 1 1 4 5
2 3 3 3 2 2 2
3 3 3 3 3 3 3
3 4 2 2 2 3 5
5 5 5 5 4 4 4
2 5 2 2 2 3 2
3 3 3 3 3 3 4
2 4 2 2 2 5 4
3 4 1 1 1 5 5
Generation Algoritma
Best: -6.54303 Mean: -6.51254 R 3A\.rerage Distance Between Individuals
g B2
25 ©
£t g1 G a Dasihoe s
ol g 0 e S "“ d-‘-.”ﬂ‘;.‘_ ‘
0 50 100 150 200 50 100 150 200
Generation Generation
15, Fitness Scaling Best, Worst, and Mean Scores
< .
E 101,
[5) -
g 5-L
nj
o e e s 4 s ‘ . A
-6.55 -6.5 -6.45 -6.4 -6.35 50 100 150 200
Raw scores Generation
Stopping Criteria
Stall (T)
Stall (G) A
Time Y1
Generation .
0 20 40 60 80 100
% of criteria met




41. Generation 200 Iterasi 41

a. Resul Code
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minimize r
Reduct of C_attributes

the result C_reduct
2

Y N T Y TRV RV R TR TINE RN B T, BNV, [ S RN Sy N
N A TN R TR UT RN Ry Ry A A S T T N

B e e O Y ¥ IR IR VE R TV I SR R N FE R ST I -9

targeted of C_attributes targetValue

result of computing

[ @ B P B B B B B B 6 B & 1 8 1 6 0
[ cl4 cle c40 c43 cd6 58 57 ]
-6.543

C_reduct

S Y R Y L N Y L W e L Y BT [ VW R -y Sy By Y
I Y R Y L Y L W WU % T = N T N Ry By By A
e Y - FTRN N TR UTIT, R SR SRV R, W, W R Ny TR BT
ST O O A T N S I VYR UTINE BV, B ST, W, RV, B WU Sy )

b. Generation Algoritma

Best: -6.55809 Mean: -6.54011

3:l\\rerage Distance Between Individuals

% of criteria met

[}
= -4 «  Mean fitness Eoh
> a .
§ -5 o M
{=1]
& &M gl :'1.\'?. "L, f A st
L -6 % o B wt 2
— 2 LA
0 50 100 150 200 50 100 150 200
Generation Generation
15 Fitness Scaling Best, Worst, and Mean Scores

c .
2107,
i+ «
(4] -
i L
i

0 o m——— . . -

-6.6 -6.4 -6.2 -6 -5.8 50 100 150 200

Raw scores Generation
Stopping Criteria
Stall (T)
Stall (G) T
Time Y1
Generation -
0 20 40 60 80 100




42. Generation 200 lterasi 42
a. Result Code

197

====================== pesult of computing =============—==c—==-=--
minimize r = [ ® 8 8 © B 8 8 & 1 1 B B ©@ @ B8 B @ @
Reduct of C_attributes C_reduct [ € 9 ¢18 c19 c25 c43 55 58 ]
targeted of C_attributes targetValue = -6.5387
the result C reduct =

2 2 3 3 3 2 3

4 2 1 1 1 1 1

1 5 1 1 1 5 4

2 1 3 2 4 2 2

2 2 2 3 3 2 3

2 4 3 2 3 2 2

2 3 3 2 3 2 4

1 5 1 1 1 5 5

2 2 L2 2 1 1 2

2 4 5 1 1 5 5

1 5 1 1 1 4 5

2 3 3 2 3 2 2

3 3 3 3 3 3 3

2 4 3 1 3 3 2

5 5 5 5 5 4 4

1 5 2 1 3 3 3

3 3 3 2 3 2 2

2 4 2 2 3 3 4

2 4 3 2 1 2 4

2 1 3 2 3 1 2

2 4 3 2 2 3 3

b. Generation Algoritma

Best: -6.53867 Mean: -6.53867
:
=
= 4 . Mean fitness
>
0
g -5
s .
L-6f
L.
0 50 100 150 200
Generation
Fitness Scaling
15
- .
2
= 10
5] .
© H
30 L
]
o e o - . L.
-6.538675 -6.53867 -6.538665
Raw scores
Stopping Criteria
Stall (T)
Stall (G) X975
Time Y1
Generation 3
0 20 40 60 80 100
% of criteria met

Average Distance Between Individuals

w

N

[

Average Distance

o

50 100
Generation
Best, Worst, and Mean Scores

200

Generation
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43. Generation 200 lterasi 43
a. Result Code

====================== result of computing s=s=ssss=s==s===========
minimize r = [ ® & @ @8 1 @ @8 8 @ # 06 @ 1 0 @ @& @ @
Reduct of C_attributes C_reduct = [ ¢ 5 ¢13 25 cdl c49 <58 ]
targeted of (C_attributes targetValue = -6.5443

the result C_reduct =
3

RS R R YR U RN U RN, B AR WU S N NI R STy SO R WU S
(R o T TN U Y IV I T W I S FUR S N
[ R R R R T L S N T Sy B R N T Y

o e N W N O s B = B I R ST T Ty N ]
LW N N W - T T o R B W Yy U I ey ]
LT L L W T o L R R R o L W L I N

b. Generation Algoritma

Best: -6.54429 Mean: -6.51155 N Average Distance Between Individuals
(=]
‘1:-,’ . Best fitness 5 2
= 4 > Mean fitness 2 |
> =
A |
w0
W -5 o1 .
2 g | -:'\-' . *
L‘;L‘ 5 Q‘ E . - 2 . .“: .y
I <>( 0 v L . iy
0 50 100 150 200 50 100 150 200
Generation Generation
15: Fitness Scaling Best, Worst, and Mean Scores
= * )
gjﬂ—_
o 4+
(] -
e s I
[
0 “ee & s s ‘ ‘ ] !
-6.545 -6.54 -6.535 -6.53 50 100 150 200
Raw scores Generation
Stopping Criteria
Stall (T)
stall (G) [ X 615
Time é é Y1
Generation I
0 20 40 60 80 100

% of criteria met




44. Generation 200 lterasi 44
a. Result Code
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== result of computing =====s=s=s===============
minimize r = [ ® & 8 8 @ 1 1 8 ® 1 & @8 @8 @ 8 8 B B8 0
Reduct of C_attributes C_reduct = [ ¢ 6 ¢ 7 cl@ c23 c38 c44 c48 ]
targeted of C_attributes targetValue = -6.50884
the result C_reduct =

2 2 2 2 3 2 3

4 4 2 2 1 1 1

2 2 5 1 1 1 5

2 4 1 3 4 2 2

3 3 2 2 3 3 4

2 2 4 2 2 3 3

2 2 3 2 4 3 3

1 1 5 1 1 1 5

2 2 2 2 2 2 1

2 2 4 2 1 1 1

2 1 5 1 1 1 4

2 3 3 2 2 3 2

3 3 3 3 3 3 3

3 3 4 2 3 3 3

5 5 5 5 5 5 4

2 1 5 3 2 2 2

3 3 3 3 3 3 4

2 4 4 2 2 2 5

3 3 4 2 1 1 5

1 3 1 1 2 4 3

b. Generation Algoritma

Best: -6.50836 Mean: -6.50332

o
o
L «  Bestfitness g
§ -4 - Mean fitness *@"
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? 5 3]
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=] Ky o
L -6 5]
LN I
0 50 100 150 200
Generation
Fitness Scaling
15
5
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b e ma s men e« . .
ol " . )
-6.5 -6.4 -6.3 -6.2
Raw scores
Stopping Criteria
Stall (T)
Stall (G) X 100
Time Y1
Generation 03
0 20 40 60 80 100

% of criteria met

Average Distance Between Individuals

3

N

[

o

Generation
Best, Worst, and Mean Scores

150

50 100
Generation
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45. Generation 200 lterasi 45
a. Result Code

====================== presult of computing ========================

minimize r = [ @8 1 8 8 1 8 8 8 8 8 8 8 8 8 B 1 B8 8

Reduct of C_attributes C_reduct = [ ¢ 2 ¢ 5 cl6 cd6 ¢52 c55 ]

targeted of C_attributes targetValue = -6.5692

the result C_reduct =
2 2 2

[ R T A R R R A Y R I = T S R =R BT R R
[ e B B W Y B B A Y = L= R P Sy A
PR OUT LA LD WA A P L WA WA R WA WA s R B LA
[ Y o R B o Y B O B = S Y Ny ey
I R S I R N ST TR IR R FTRY CINT YW RV, R -SR FYRNY, Y
[ Y R e A T Y R o Y o o Y B T R Y "

b. Generation Algoritma

Best: -6.56922 Mean: -6.53915 3A\.'erage Distance Between Individuals

@Q
Q
g *  Bestfitness s
§ -4 »  Mean fitness %
a
(%]
g g
£ 8
T
k' ) z
0 50 100 150 200 50 100 150 200
Generation Generation
Fitness Scaling Best, Worst, and Mean Scores
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8
T
5]
5]
a
>
]
-6.56 -6.55 -6.54 -6.53 -6.52 50 100 150 200
Raw scores Generation
Stopping Criteria
Stall (T)
Stall (G)
Time
Generation

0 20 40 60 80 100
% of criteria met



46. Generation 200 lterasi 46
a. Result Code
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====================== pesult of computing ====s======s==============
minimize »r = [ ® & @ 8 & 1 8 8 8 1 6 &8 06 B 8 1 B8 0
Reduct of C_attributes C reduct = [ ¢ 6 c10 c16 c22 c43 c48 55 ]
targeted of C_attributes targetValue = -6.5586
the result C_reduct =
2 2 2 3 3 3 2
4 2 5 2 1 1 1
2 5 4 1 1 5 5
2 1 4 4 4 2 2
3 2 2 3 3 4 2
2 4 4 2 3 3 2
2 3 5 3 3 3 2
1 5 5 1 1 5 5
2 2 2 2 1 1 1
2 4 5 3 1 1 5
2 5 5 2 1 4 4
2 3 3 3 3 2 2
3 3 3 3 3 3 3
3 4 4 3 3 3 3
5 5 5 5 5 4 4
2 5 5 2 3 2 3
3 3 3 3 3 4 2
2 4 5 4 3 5 3
b. Generation Algoritma
Best: -6.5586 Mean: -6.5235 o 3Average Distance Between Individuals
o
- a
g- 5
= g
L -6 L E
0 50 100 150 200 50 100 150 200
Generation Generation
15 Fitness Scaling Best, Worst, and Mean Scores
< .
'E 10 .
Q .
g s L
|
0 e L .,
-6.6 -6.55 -85 -6.45 -6.4 -6.35
Raw scores Generation
Stopping Criteria
Stall (T)
Stall (G) X 100
Time Y1
Generation .
0 20 40 60 80 100
% of criteria met




47. Generation 200 lterasi 47
a. Result Code
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the result C_reduct =
3

[ S N UTINY, V. I SO UTRY CRT T  CRY T, B SO TR ST, S )
L R RS L R LA L RS R R RS R L R L

[FYR N N TR R YR RN TR Y QR NS R S R TR R
[Ty R S UV FY R WY QAR Ry AR N S SR
[Ty R T S N S U R S O Y2 BV R VYR Sy W, RSNy

====================== presult of computing ==================-===
minimize r = [ ®@ ® 8 8 @ & © @ @ @ @ 8 1 @ © @ © @0
Reduct of C_attributes C_reduct = [ 13 c21 c27 39 c48 56 |

targeted of C_attributes targetValue

[ Y = S W Tt Sy W Wy N I I Ry W I, TR, Y R I Iy

= -6.5247

b. Generation Algoritma

Best: -6.52475 Mean: -6.48771

. Best fitness
. Mean fitness

\
I

Fithess value
& &

o

50 100 150 200
Generation

Fitness Scaling
10

L

-6.525 -6.524 -6.523 -6.522

Raw scores
Stopping Criteria
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Time Y1

Generation -
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0 50 100
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a. Result Code
====================== result of computing =======s================
minimize r = [ 1 & & @8 &8 8 & 6 1 B 8 & @8 & 6 B B
Reduct of C_attributes C reduct = [ ¢ 1 cl1@ c29 c37 c44 c47 <55 ]
targeted of C_attributes targetValue = -6.5366
the result C_reduct =
2 2 2 3 2 2 2
5 2 5 1 1 2 1
1 5 5 1 1 1 5
3 1 3 4 2 2 2
3 2 3 3 3 2 2
2 4 5 2 3 2 2
1 3 4 2 3 2 2
1 5 5 1 1 1 5
2 2 2 2 2 2 1
1 4 5 1 1 1 5
2 5 2 1 1 1 4
3 3 3 3 3 3 2
3 3 3 3 3 3 3
2 4 5 2 3 3 3
5 5 2 5 5 4 4
2 5 2 2 2 3 3
2 3 3 3 3 3 2
2 4 2 2 2 4 3
2 4 4 1 1 1 2
2 1 3 3 4 4 1
b. Generation Algoritma
Best: -6.53662 Mean: -6.52601 Bverage Distance Between Individuals
1] [=
% 4 . Best fitness g 2
; *  Mean fitness a
6> 81
i g 0 v
0 50 100 150 200 < 50 100 150 200
Generation Generation
Fitness Scaling Best, Worst, and Mean Scores
é 01
L .
® 5 f
-
w o - ———. . 3 -
-6.55 -6.5 -6.45 50 100 150 200
Raw scores Generation
Stopping Criteria
Stall (T)
Stall (G) X100
Time Y1
Generation »
0 50 100
% of criteria met
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49. Generation 200 Iterasi 49
a. Result Code

====================== result of computing ===s=====ss=============
minimize r = [ @ @ @ @ @ @ © @ 0 @ 1 @ 1 @ @ ©@ @ O
Reduct of C_attributes C reduct = [ cl11 c13 ¢34 c42 cd4 c49 57 ]
targeted of C_attributes targetValue = -6.5367
the result C_reduct =
2 2 3 3 2 1 3
2 4 2 1 1 1 1
4 5 1 1 1 5 4
2 4 2 4 2 2 4
2 3 3 4 3 4 3
4 4 2 2 3 5 5
4 5 2 3 3 5 5
5 5 1 1 1 5 5
2 2 2 2 2 1 2
4 5 1 1 1 1 5
5 5 1 1 1 4 5
2 2 3 3 3 2 3
3 3 3 3 3 3 3
4 4 2 3 3 3 2
5 5 5 5 5 4 4
4 5 2 2 2 3 3
3 3 3 3 3 3 4
b. Generation Algoritma
N Best: -6.53674 Mean: -6.52821 8v§rage Distance Between Individuals
c
% 4 . Best fitness %
; *  Mean fitness a,
iz "3‘ g
0 50 100 150 200 < 50 100 150 200
Generation Generation
Fitness Scaling Best, Worst, and Mean Scores
27
§ 10 .
& .
¢ 5 i
o
?6.6 65 -64 -3 6.2 50 100 150 200
Raw scores Generation
iz 5topping Criteria
Stall(T) Y3
stall (G) [il® X100
Time Y1 |
Generation .
0 50 100
% of criteria met




50. Generation 200 Iterasi 50

a. Result Code
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====================== pesult of computing ========================
minimize r = [ ® 8 1 8 1 8 6 8 8 1 6 8 @ 8 B B8 @ 0
Reduct of C_attributes C reduct = [ ¢ 3 ¢ 5 ¢18 c28 c43 c48 c56 ]
targeted of C_attributes targetValue = -6.5419
the result C_reduct =
Column 1

2

4

2

2

3

2

2

1

2

1

1

b. Generation Algoritma

200

100

Best: -6.54189 Mean: -6.53923
[}
% 4 . Best fitness
> . Mean fithess
[%7]
n -5
e
i v
0 50 100 150
Generation
Fitness Scaling
c
2 10¢
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& 5
-
>
L . . s ass
0
-6.54 -653 -652 -651 -65
Raw scores
Stopping Criteria
Stall (T)
Stall (G) X100
Time Y1
Generation
0 50
% of criteria met

Bverage Distance Between Individuals
c

g s

22

o |*

g \‘-Q“f e M' A, "

Tl t W
< 50 100 150 200

Generation
Best, Worst, and Mean Scores

¥

A

&

50

100
Generation




Lampiran 3. Hasil Observerd Predicted

1. Dependen Variabel : x12

Predicted Observed

Std. Residual

Model: Intercept + x11 +x15 + x16 + %18 + %21 + x23 + x25 + x54 + x65 + x66 + x73 + x81 + x92

Dependent Variable: x12

i'!i{)

W

W

Observed

2. Dependen Variabel: x13

Predicted Observed

Std. Residual

Madel: Intercept +x11 + %15 + x16 + x18 + x21 + x23 + %25 + x54 + x65 + %66 + x73 + xB1 + %92

Dependent Variable: x13

Predicted

Std. Residual

o
Qilg

O (D T

o]

Z

Observed

3. Dependen Variabel : x14

Predicted

Std. Residual
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Predicted Observed

Std. Residual

Model: Intercept + 211 + %15 + %16 + %18 + x21 + x23 + ¥25 + x564 + ¥B5 + xB6 + x73 + x81 + x32

Dependent Variable: x14

\

Observed

4. Dependen Variabel : x17

Predicted Observed

Std. Residual

Madel: Intercept + x11 + %15 + x16 + %18 + %21 + x23 + %25 + x54 + x65 + %66 + x73 + xB1 +x592

Dependent Variable: x17

Predicted

Std. Residual

W

Observed

5. Dependen Variabel : x19

Predicted

Std. Residual
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Dependent Variable: x19

Observed

! o

Predicted

Lo ]
T
KD
CORE O

Std. Residual

Wy

Madel: Intercept + x11 + %15 + x16 + %18 + x21 + x23 + x25 + x54 + xB65 + x¥B66 + %73 + x81 +x92

Observed

6. Dependen Variabel x22
Dependent Variable: x22

Predicted Observed

Std. Residual

Madel: Intercept + %11 + %15 + %16 + %18 + x21 + %23 + x25 + x54 + x65 + x66 +x73 + x81 +x92

Predicted

Std. Residual

il WL
|'lii §

Observed

7. Dependen Variabel x24

Predicted

Std. Residual
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Predicted Observed

Std. Residual

Model: Intercept +x11 +x15 + x16 + x18 + x21 + x23 + x25 + x54 + xB5 + x66 + x73 + x81 + x32

Dependent Variable: x24

T T
OO (5
[one
MY
D OO0

8. Dependen Variabel x27
Dependent Variable: x27

Predicted Observed

Std. Residual

Madel: Intercept + x11 + x15 + %16 + %18 + x21 + x23 + x25 + x54 + x65 + x66 + %73 + %81 + x92

il | ' %

@

! ~,
Observed Predicted Std. Residual
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o0 ofs]
T
CEDEET)

\\

Observed

9. Dependen Variabel x31

Predicted

Std. Residual
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Dependent Variable: x31

Observed
'

5
o/m
ﬁ/

i

Observed Predicted Std. Residual
Madel: Intercept +x11 + x15 + x16 + x18 + x21 + x23 + x25 + x64 + x65 + x66 + %73 + xB1 + x92

10. Dependen Variabel x32

Dependent Variable: x32

Observed
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C— O -
COTM— L]
O -

¥

Predicted
OO

— C
OO0
C—

| o,
L

Observed Predicted Std. Residual
Model: Intercept + x11 +x15 + %16 + x18 + x21 +x23 + x25 + x54 + x65 + 366 + x73 + xB1 + xI2

11. Dependen Variabel x33

Dependent Variable: x33

Std. Residual

Observed
! !!E i

-~
=z

W

Observed Predicted Std. Residual
Madel: Intercept +x11 + %15 + x16 + x18 +x21 + x23 + x25 + x54 + x65 + %66 + %73 + xB1 +x92



12. Dependen Variabel x34

Dependent Variable: x34
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Observed

Model: Intercept +x11 + x15 + x16 + x18 + x21 + x23 + x25 + x54 + xB5 + xB6 + x73 + x81 + x92

Predicted

13. Dependen Variabel x35

Dependent Variable: x35

Std. Residual

Observed

| é
s}

Predicted
O O

Om—
o

W

Std. Residual

My

o

Observed

Madel: Intercept + x11 +x15 + x16 + x18 + x21 +x23 + %25 + x54 + xB65 + x66 + x73 + x81 + x92

Predicted

14. Dependen Variabel x36

Dependent Variable: x36

Std. Residual

Observed

Predicted
C—
O
T
CT———
0 IS

W

Std. Residual
—
L

w

Observed

Madel: Intercept + x11 +x15 + x16 + x18 + x21 +x23 + x25 + x54 + xB5 + x66 + x73 + x81 + x92

Predicted

15. Dependen Variabel x37

Std. Residual
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Dependent Variable: x37

Observed

c!gl

Predicted

Std. Residual

w

Model: Intercept + x11 + %15 + x16 + x18 + x21 + x23 + x25 + x54 + xB5 + x66 + x73 + x81 + x92

Observed

Predicted

16. Dependen Variabel x38

Dependent Variable: x38

Predicted Observed

Std. Residual

Model: Intercept + x11 +x15 + x16 + x18 + x21 + x23 + x25 + x54 + %65 + x66 + %73 + xB1 + x92

Std. Residual

@

'}

Observed

Predicted

17. Dependen Variabel x39

Dependent Variable: x39

Predicted Observed

Std. Residual

Model: Intercept + x11 + x156 + x16 + x18 + x21 + x23 + x25 + x54 + x65 + x66 + %73 + xB1 + x32

Std. Residual
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o o
L ! o
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Observed Predicted Std. Residual

18. Dependen Variabel x41
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Dependent Variable: x41
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Madel: Intercept +x11 + x15 + x16 + x18 + x21 + x23 + x25 + k54 + x65 + xB6 + x73 + xB1 +x32

Observed

Predicted

19. Dependen Variabel x42

Dependent Variable: x42

Std. Residual

Observed

Predicted

R O
CO—— O
Y O

Std. Residual

W

Model: Intercept + x11 + x15 + x16 + x18 + x21 + %23 + x25 + x54 + x65 + ¥66 + x73 + x81 + x92

Observed

Predicted

20. Dependen Variabel x43

Dependent Variable: x43

Predicted Observed

Std. Residual

Model: Intercept +x11 +x15 + %16 + x18 + x21 + x23 + %25 + x54 + %65 + x66 + x73 +x81 +x92

Std. Residual
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21. Dependen Variabel x46

Predicted Observed

Std. Residual

Model: Intercept + x11 + x15 + x16 + %18 + x21 +x23 + x25 + x54 + xB5 + %66 + x73 + x81 + x92

Dependent Variable: x46

= i

|\

M

Observed

Predicted

22. Dependen Variabel x47

Dependent Variable: x47

Predicted Observed

Std. Residual

Model: Intercept + x11 + x15 + %16 + x18 + x21 + x23 + x25 + x54 + x65 + %66 + x73 + xB1 +x92

Std. Residual
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Observed

Predicted

23. Dependen Variabel x48

Predicted Observed

Std. Residual

Model: Intercept + x11 +x15 + x16 + x18 +x21 + x23 + 325 + x54 + x65 + xB6 + x73 + xB81 + x92

Dependent Variable: x48

Std. Residual
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aa yiole]
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Observed

Predicted

24. Dependen Variabel x51

Std. Residual

214



Dependent Variable: x51

Observed

Predicted

@

\J

Std. Residual

Model: Intercept + x11 + x15 + %16 + x18 + x21 +x23 + x25 + x54 + %65 + x66 + x73 + xB1 +x32

Observed

Predicted

25. Dependen Variabel x52

Dependent Variable: x52

Predicted Observed

Std. Residual

Model: Intercept + x11 + x15 + x16 + x18 + x21 + x23 + x25 + x54 + x65 + ¥66 + %73 + x81 + x92

Std. Residual
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Observed Predicted Std. Residual

26. Dependen Variabel x53

Dependent Variable: x53

Observed

D!i !

7 TR

Predicted

Std. Residual

Model: Intercept + %11 + %15 + %16 + %18 + ¥21 + %23 + %25 + x54 + x65 + ¥66 + x73 + x81 +x92

My

Observed

Predicted

27. Dependen Variabel x55

Std. Residual
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Dependent Variable: x65

Observed

Predicted

W

Std. Residual

My

Model: Intercept + x11 + x15 + %16 + x18 + x21 +x23 + x25 + x54 + %65 + x66 + x73 + xB1 +x32

Observed

Predicted

28. Dependen Variabel x61

Predicted Observed

Std. Residual

WModel: Intercept + x11 + x15 + %16 + x18 + x21 + 123 + x25 + x54 + %65 + x66 + x73 + x81 + x92

Dependent Variable: x61

Std. Residual
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Observed Predicted Std. Residual

29. Dependen Variabel x62

Dependent Variable: x62

Predicted Observed

Std. Residual

Model: Intercept +x11 +x15 + x16 + %18 + x21 +x23 + x25 + x54 + xB5 + xB66 + x73 + x81 +x92
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My

Observed

Predicted

30. Dependen Variabel x63

Std. Residual
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Dependent Variable: x63

Observed

Predicted

W

Std. Residual

W

Wodel: Intercept + x11 +x15 + x16 + x18 + x21 + x23 + x25 + x64 + x65 + %66 + x73 + x81 + x92

Observed

Predicted

31. Dependen Variabel x64

Dependent Variable: x64

Predicted Qbserved

Std. Residual

Model: Intercept + x11 + x15 + x16 + %18 + x21 + x23 + %25 + x54 + x65 + xB66 + %73 + xB1 + x32

Std. Residual
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Observed
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32. Dependen Variabel x71

Dependent Variable: x71

Predicted Observed

Std. Residual

Wodsl: Intercept + x11 + %15 + x16 + %18 + x21 + %23 + x25 + x54 + xB5 + %66 + x73 + x81 + x92

Std. Residual
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Observed

Predicted

33. Dependen Variabel x72

Std. Residual
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Predicted Observed

Std. Residual

Model: Intercept + x11 + x15 + x16 + x18 + x21 + %23 + x25 + x54 + x65 + %66 + x73 + x81 + x92

Dependent Variable: x72
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34. Dependen Variabel x83

Predicted Observed

Std. Residual

Model: Intercept +x11 +x15 + x16 + x18 + %21 +x23 + x25 + x54 + xB5 + ¥66 + x73 + x81 + x92

Dependent Variable: x83
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35. Dependen Variabel x84

Predicted Observed

Std. Residual

Maodel: Intercept + x11 + %15 +x16 + x18 + x21 + %23 + %25 + x54 + x65 + x66 + %73 + %81 +x92

Dependent Variable: x84

ioi
lai

[ ]
-
-—
—

W

f@
S

/

Observed

Predicted

36. Dependen Variabel x85

Std. Residual
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Dependent Variable: x85

Model: Intercept +x11 +x15 + x16 + x18 + x21 +x23 + x25 + x54 + xB5 + x66 + x73 + xB1 + 32

37. Dependen Variabel x91

Dependent Variable: x91

Predicted Observed

Std. Residual

Wodel: Intercept + x11 + x15 + x16 + x18 + x21 + x23 + x25 + x54 + x65 + %66 + %73 + xB1 + x92
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38. Dependen Variabel x93

Predicted Observed

Std. Residual

Model: Intercept + x11 + x15 + x16 + x18 + x21 + x23 + x25 + x54 + x65 + x66 + %73 + x31 +x92

Dependent Variable: x93

Std. Residual
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39. Dependen Variabel x94

Dependent Variable: x94
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Predicted
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Std. Residual
s
[ sl
-
-_—
-

",

Observed

Model: Intercept +x11 + %156 + x16 + x18 + x21 + x23 + x25 + x54 + x65 + x66 + x73 + %61 + x92

Predicted

Std. Residual
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